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1. The speed of transverse waves on a spring is 15 m/s. If the source produces a disturbance every

0.2 seconds What 1s the Wavele gth of the waves produced‘?
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2. If a wave gene*atow-ﬁaduce 10 meter- 10 ?ves every , calculate the wasesSRacd. 0
Wy s‘\'

- <
= v
3. The violin ‘A’ @g (440 Hz) has a length of.t what speed does the fudecntal @

ﬁ"equency travel along the string?
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4. A trumpet is an Qpen tube with a length o alculate the lowest note (fundamental
frequency) that it can p fy. Assume v = 340 m/s. q
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5. What is a standing wave? How is it formed?
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6. What type of mterference produces BdeSV Anti-nodgg? p.J = ‘g.‘;re‘ 2.’" ’
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8. Arope, fixed at both ends, is vibrated by a machine at W (similar to the class

demo). If the rope is placed under more tension. wha happen tc*zaveler;gtm Wh% V
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10. A microwave is simply ajh €es passmg through it o heat u
danger of aﬂowmg the niicrowaves to corne stan wav ? How is tm\/‘e’l
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